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2 09:50~ vs Vs
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5 12:20~ vs Vs
6 13:10~ vs Vs
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1 09:00~ vs Vs
2 09:50~ | NSP(A) vs f%q FLER vs
3 10:40~ vs Vs
4 11:30~ | FER vs NSP(A) 1% vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
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1 09:00~ vs Vs
2 09:50~ vs Vs
3 10:40~ vs Vs
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5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
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1 09:00~ ¥ H vs f=ED HE&H) vs
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3 10:40~ vs vs
4 11:30~ | /ARTIL vs f=&ED ¥EH Vs
5 12:20~ ¥FH vs HhEH) | AT vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
9 15:40~ vs vs
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1.09:00~ [ BRI vs HEBFC(C)| HWE vs
2 09:50~ R vs W® |REBFC(C) vs
3 10:40~ vs vs
4 11:30~ YR vs AEBFC(C)|  #RL vs
5 12:20~ vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
9 15:40~ vs vs
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7 14:00~ vs Vs

8 14:50~ vs Vs

9 15:40~ vs Vs
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1 09:00~ vs Vs

2 09:50~ vs Vs

3 10:40~ vs Vs

4 11:30~ vs Vs

5 12:20~ vs Vs

6 13:10~ vs Vs

7 14:00~ vs Vs

8 14:50~ vs Vs

9 15:40~ vs Vs
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1 09:00~ vs Vs

2 09:50~ vs Vs

3 10:40~ vs Vs
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7 14:00~ vs Vs
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1 09:00~ | NSP(B) vs i (C) BRER vs
2 09:50~ BRED vs BRIl NSP(B) vs
3 10:40~ | IRH(C) vs #AEFC(C)| &Rl vs
4 11:30~ | NSP(B) vs Rl |[HhLBFC(C) vs
5 12:20~ BRED vs HEFC(C)| kH(C) vs
6 13:10~ Vs vs
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4A288 (1)
U—11(G) U—11
HERG BINREES L E
RIGUE [(Fan  #E 0 FR)  #E £ ¥ |(FED (F#&) = ¥
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1 09:00~ vs vs
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3 10:40~ | HEE vs BR RED vs
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5 12:20~ vs vs
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8 14:50~ vs vs
9 15:40~ vs vs
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1 09:00~ vs vs
2 09:50~ Hig vs Jo—4 | EEE vs
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7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs Vs
2 09:50~ vs Vs
3 10:40~ vs Vs
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5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
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1 09:00~ vs Vs
2 09:50~ vs Vs
3 10:40~ vs Vs
4 11:30~ vs Vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
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3 10:40~ vs Vs
4 11:30~ | HE&MH) vs IRR f=&ED vs
5 12:20~ vs Vs
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9 15:40~ Vs Vs
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1.09:00~ | HLEFC(F) vs NSP(A) 1% vs
2 09:50~ | & vs %3 NSP(A) vs
3 10:40~ | E& vs HEFCF) | #&m vs
4 11:30~ | NSP(A) vs iR ALEFC(F) vs
512:20~ | F%i#E vs =g i vs
6 13:10~ vs Vs
7 14:00~ Vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
u—11 u—11
HAER5
RGHE |(FAD (F1&) ¥ |(FED (F#) = ¥
1 09:00~ Vs Vs
2 09:50~ vs Vs
3 10:40~ Vs Vs
4 11:30~ Vs Vs
5 12:20~ Vs Vs
6 13:10~ vs Vs
7 14:00~ Vs Vs
8 14:50~ vs Vs
9 15:40~ Vs Vs
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1 09:00~ 1—E vs f=&ED (D) vs
2 09:50~ | IRH(D) vs HE(H) - vs
3 10:40~ vs Vs
4 11:30~ | 3RH(D) vs - HEBH) vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs vs
8 14:50~ vs Vs
9 15:40~ vs Vs
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1 09:00~ vs Vs
2 09:50~ |HLEFC(C) vs R NSP(B) vs
3 10:40~ vs Vs
4 11:30~ | NSP(B) vs 4IPS ALEBFC(C) vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
u—11 u—11
Han
RGHE |(FAD (F1&) ¥ |(FED (F#) = ¥
1 09:00~ vs Vs
2 09:50~ vs Vs
3 10:40~ vs Vs
4 11:30~ vs Vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
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1 09:00~ =D vs ¥iE INATIL vs
2 09:50~ FEfE vs INRTIL fz&ED vs
3 10:40~ | HEMH) vs W FEfE vs
4 11:30~ | 1=£2 vs Edi ] vs
5 12:20~ ¥EH vs (D) HEMH) vs
6 13:10~ | IRH(D) vs IZRRT—)4 *H vs
7 14:00~ Vs vs
8 14:50~ Vs vs
9 15:40~ Vs vs
6A168 (1)
U—11(F) U—11
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2GHF (FaD BR  (FR) £ ¥ |(FED (F&) = ¥
1 09:00~ MR vs REFR R vs
2 09:50~ Vs vs
3 10:40~ WER vs KEFIR MR vs
4 11:30~ AR vs MR KER vs
5 12:20~ Vs vs
6 13:10~ Vs vs
7 14:00~ Vs vs
8 14:50~ Vs vs
9 15:40~ Vs vs
6A168 (1)
U—11(G) U—11
HERG FUGHIT SR
SBELEF (FaD J0—Y  (FH) £ ¥ |(FED (F&) = ¥
1.09:00~ | F%ZE vs JBa—4 | NSP(A) vs
2 09:50~ Vs vs
3 10:40~ | FZiF vs HL&FC(F) | Fo—4 vs
4 11:30~ | /o—4 vs NSP(A) F%iE vs
5 12:20~ Vs vs
6 13:10~ Vs vs
7 14:00~ Vs vs
8 14:50~ Vs vs
9 15:40~ Vs vs
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1 09:00~ ;410 vs R R (C) vs
2 09:50~ HEB vs i (C) 5410 vs
3 10:40~ | NSP(B) vs ALEBFC(C) HEB vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
9 15:40~ vs vs
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Uu—11(G) u—11
HAER5 EWHISIUR
RGLE |(FaD FER FR & ¥ |(FED (F#) = H
1.09:00~ [ FALLE vs HEFC(F) Hig vs
2 09:50~ | E& vs L R vs
3 10:40~ f&r vs itk | ALEFC(F) vs
4 11:30~ | ALEFC(F) vs B f&m vs
5 12:20~ f&r vs B EE vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
9 15:40~ vs vs
u—11 u—11
Ra%s
RGHE |(FAD (F#&) ¥ |(FED (F#) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
9 15:40~ vs vs
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1 09:00~ | RH(D) vs INRTIL | ALE&H) vs
2 09:50~ FEfE vs &M ¥EH vs
3 10:40~ = vs FEH ]RH(D) vs
4 11:30~ FEfE vs (D ZRB vs
5 12:20~ | #EMH) vs ZRB FEfE vs
6 13:10~ Vs vs
7 14:00~ Vs vs
8 14:50~ Vs vs
9 15:40~ Vs vs
7H148 ()
Uu—11(G) U—11
HERG FUGIT SR
RGHF (FaD FEE (FR) £ ¥ |(FED (F&) = ¥
1.09:00~ | F%ZE vs ik HEFC(F) vs
2 09:50~ &M vs HEFCF) i vs
3 10:40~ Vs vs
4 11:30~ | FLEFC(F) vs Jgo—4 F%iE vs
5 12:20~ &M vs FEiE go—4 vs
6 13:10~ Vs vs
7 14:00~ Vs vs
8 14:50~ Vs vs
9 15:40~ Vs vs
U—11 U—11
HERG
RS HF |((FFD (F&) £ ¥ |(FED (F&) = ¥
1 09:00~ Vs vs
2 09:50~ vs vs
3 10:40~ Vs vs
4 11:30~ Vs vs
5 12:20~ Vs vs
6 13:10~ Vs vs
7 14:00~ Vs vs
8 14:50~ Vs vs
9 15:40~ Vs vs
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1 09:00~ Wi vs ¥ (D) f=ED vs
2 09:50~ | IRH(D) vs =D WEE vs
3 10:40~ vs Vs
4 11:30~ | IRNR vs f=ED ¥ (D) vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
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Uu—11(F) u—11
HAER5 EWHI SR
RIELFE (81D AEBFC(C) (F#) £ ¥ |(FED (F#) = #
1 09:00~ vs Vs
2 09:50~ |HLEFC(C) vs REFE R vs
3 10:40~ | IRH(C) vs W #L&FC(C) vs
4 11:30~ vs Vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
u—11 u—11
HAER5
RGHE |(FAD (F1&) ¥ |(FED (F#) = ¥
1 09:00~ vs Vs
2 09:50~ vs Vs
3 10:40~ vs Vs
4 11:30~ vs Vs
5 12:20~ vs Vs
6 13:10~ vs Vs
7 14:00~ vs Vs
8 14:50~ vs Vs
9 15:40~ vs Vs
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2 09:50~ MK vs BRI s vs

3 10:40~ | NSP(B) vs R AR vs

4 11:30~ vs Vs

5 12:20~ vs Vs

6 13:10~ vs Vs

7 14:00~ vs Vs

8 14:50~ vs Vs

9 15:40~ vs Vs
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RGHE |(FaD (F1&) ¥ |(FED (F#) = H

1 09:00~ vs Vs

2 09:50~ vs Vs

3 10:40~ vs Vs

4 11:30~ vs Vs

5 12:20~ vs Vs

6 13:10~ vs Vs

7 14:00~ vs Vs

8 14:50~ vs Vs

9 15:40~ vs Vs
u—11 u—11

HAER5

RIGHE ((FAD (F1&) ¥ |(FED (F#) = H

1 09:00~ vs Vs

2 09:50~ vs Vs

3 10:40~ vs Vs

4 11:30~ vs Vs

5 12:20~ vs Vs

6 13:10~ vs Vs

7 14:00~ vs Vs

8 14:50~ vs Vs

9 15:40~ vs vs




